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Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

C Paper : V

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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foriaet

71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R TS | RICT 2[RI oS /e “Iqe sl 3 Je 1903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (ST T&T #[@q Jeie 341 7927 |

o S 2T AT AHIF €= NG OMR T&T “[@rz 7l 27 | G 2 I Wam IRIA
SReRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ ATl /F 2N -5 (I 7 Pl
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG AT (PITA! AN 729 T |

® SIF(AIRIR ©2 T[T @ AFINET OMR Te 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS SRR 27 Te BRAMG TRFREDBIR2. 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITE $'T TG OMR Tes g S 5i%® forat 27 |
TrRFeERC, 2RI &> T 2RFIFSI T “C’ 2WfHFE OMR T “iaq (e digs «c?
foria anfor =ie e 3@ «C 6t a1 37 7R | s feat feete et <[
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |
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et

I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA FHFA 0o 2, 2RI O 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A TSR FE 1 T, SR Ot oIS 0
/e[y T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7F IR & ANFIANET ¢ g OMR Tea7@ (e @ | G T A Wa TR &
SR (e Teaig (e I A |

® 2R[(TF A €6 OMR Te°l@ (eq 2@ | Aa=FINcs (12 (8 OMR TeReiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 3R TSP &TT &) 1.50 797 0T A
R |

® o TG T (I YOI FI AP |

® 5% O (FTF G “rHIE OMR TG0T 1161 /I I - @B (7] 2T FACS 2(A |

o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *JArwTy iRee 267 BT ATS eRotEd (I THAG OMR Ted7itad e B @t = |
Tz, AT AN PTER (@IS “C? 2liFE OMR $e3oite (e =i < vt =@
GR TR 38 ‘¢’ b FIET TS =@ | eGSR (e ARrwIS eewel. [t
TR0 R GR =D I FACS T |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame Seer
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsf amew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsarrEmn el MaE Y@M THT ST rough FERET GiFM™ faaTgamas ! @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ ferEE THe” OMR A= faeme A wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATATE AT - : TR foerst Tmr om0 d@im foemst &', waft w's smfe safeet
e el TS T S-St ot T |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YW |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
" gt A | el afed femrmmn wam wam faemef %' <o @t T faeme fo
ST @A et w'e < forA A ot for semwt e WrerwE e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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frdw

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® TTeTd 3R o foT0 g ThRTeHeR 37eha 721 g |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /T Toha T B | SCTEUREEU, A udienelt it wuA giere @ ®ig ‘C’ @, @ OMR
IW-U H e “C’ foramn gnm 3R 9= “C? Y shien &1 BRm | af uvA gl § g 9t o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. T3 [ s SR @12 7 Z5i 51 71 27 2

(A) T2 SR (B) o 5@ ]
() f.=[. S (D) BH ECOIR (FIUheT
1. T3 OICST MRy e Afos ?
(A) T2 IR (B) TSRb; ]
(C) RR. S (D) MR IFTCSIB G
1. ¥R YRAH AEH 37 (Iron Man) 89H THRSTET ?
(A) wETe el (B) @Y =g §E
(C) fu.31mR. Mg (D) HIER TeeANHTS U
1. WA I iIg q&Y fohdl WHT STl & 2
(A) T e (B) gy =g S
(C) 3R, 3regH (D) TIER ToANHTS T
1. Who is considered as the Iron Man of India ?
(A) Mahatma Gandhi (B) Subhash Chandra Bose
(C) B.R. Ambedkar (D) Sardar Vallabhbhai Patel

2. T3 [ Ife Sived Ng3e &6 wie Seies 2

A RN SRR oA (B) TFEMRITY R
(C)  «.11.cer. =IgeT e (D) &=, 5!
2. TP OIS CFHARG W1 ([RP112e1 sp1e7) qeet “Afib 2
Q) @ S el (B) TFeIpIfirg e
(C)  «.f0.ce. et eT (D) &=, 5l
2. R 9Ra e gy 7 fiemn ¢
(A) Enft i s (B) herreaied frem
(C) Tu.fuSl. 7o Ham (D) .. T
2. YR % frdmget 89 % &9 4 fhd ST ST B 2
(A) Bft TR (B) herrerated foe
(C) THS. 3TsgeA HeTH (D) <.ARE. @
2. Who is known as the Missile Man of India ?
(A) Homi Jahangir Bhabha (B) Kailasavadivoo Sivan
(C) A.P.J. Abdul Kalam (D) J.R.D. Tata
SLRC-2022/P-V/C 6
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3. ToleTe Teq (@G FFIChR BIEe 9l (W {1 7-72R @5 ?

A) faeIaizs (B) AR
(C) TR ) IEIGISIED
3. I Saferm i @b FHICHR COIEs™ @3 326w 385 ?
&) frRizs (B) TBANIRG
(C) TR ) EIGISIED
3. TR S8 AT 91Rd (Computer Storage) T w5frgs <t ammfe 2
(A) fimemse (B) dusge
(C) wmeTEe (D) ferersmse
3. frferfed o @ 1 Syt Yeru Hi a8 9l 36T ¢ ?
(A) TrmeTge (B) <tEmse
(C) WmeTEe (D) fepeitese
3. Which amongst the following is the largest unit of computer storage ?
(A) Gigabyte (B) Terabyte
(C) Megabyte (D) Kilobyte

4. TEfIire @Ry 2RI =9 QIS 12 ACE 2

&) e (B) T&H
(C) ™ (D) %ew
4. T TS @I 12 St GG A AP SN0 A0S fersfiel ek 2
A) =z (B) IPRC (2eD)
(C) s (D) st
4. TTEEM S& GEA MEM STEE! SH TGS SHE ?
(A) g T (TE) (B) @&
© f&m (D) ¥ (férem)
4. Traferfaa § @ & a1 ueht 79 gigen Ui o WEd | ST 8 2
(A) giHfee (B) e
€ fig (D) <
4.  Which of the following birds builds its nest in tree hollows ?
(A) Hornbill (B) Egret
(C) Vulture (D) Eagle
SLRC-2022/P-V/C 7 P.T.O.
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5. ferferie ! Siaedq AT o 2

(A) <&t sfe (B) ToRRITSII AN
(©) @&Hze (D) =R

5. T S (G SN S i ?
(A) G 4TS NG| (B) @ (e Biald
ORI EES (D) Ttz

5.  TTERIH ST TRATH U AR ?
(A) T T T (B) TR STTed TR
(C) TR et (D) e

5. Treferiad o & s wid 1 UgiF Uy R 2
(A) T HIT T de (B) T STTet TR
(C) s weft (D) e

5. Which of the following is the National Animal of India ?
(A) One Horned Rhino (B) Royal Bengal Tiger
(C) Asian Elephant (D) Nilgai

6. “IEreqrial” I I5RO! I SR 2

Aa) TEe (B) R
(C) TG (D) o=
6. “ArereArEal feTca e ;
A) "ue (B) wHCH
(C) 3rreg (D) 7=
6. Tornmf’ i1 forfift smar ¢
(A) g (B) s
(C) dmmHg (D) wHegu
6. TSRl fohereh g foral T3 off ?
@) TF B) A
(C) =g (D) whegw
6. “Rajatarangini” was written by :
(A) Shudraka (B) Jayadeva
(C) Banabhatta (D) Kalhana
SLRC-2022/P-V/C 8
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7. eSS S9l T2 S S yeawel Ige 1 e 4 |

(A) 9 @Y @¥ [T (B) Calfetorsy” &'7
(C) =E I (BeTeesi= (D) oo Gtz
7. T TS @G R SRS Sl qHaie (SeibwE G ?
(A) @H-9¥ G — [TTH (B) oniferfers e
(C) 2 T T (D) T RS
7. TR SIS SIS G ST gUeqH g 7
(A) TR TH TR (B) Trefiferan ste
(C) T FrEim g (D) ufew gifem
7. TmafaRed o @+ @i § wnfia siffesd e w1am 2 ?
(A) TR TH T — = (B) Trefiferat sta
(C) &9 TH AT (D) Ufeds eiiehid
7. Which of the following is the name of the optical telescope in space ?
(A) XMM-Newton (B) Galileo probe
(C) Hubble Space Telescope (D) Edison Telescope
8. *{iZ5q 39 AfbS g wF T TS (2w |
(&) 9 e (B) T
(C) PR (D) 4o e
8. *RIZIGA To AT A0S TP GR
(&) T e (B) ¥
(C) ANPR (D) Ifoa T
8.  INISHIC SrEg AT SGeh STRI TR TSE TR ?
(A) HR Fuer (B) s
(C) THf&s (D) sfeqar Raerst
8. TSI hl ASE A IRFhd 3 o sl 1<) 718 ot |
(A) g (B) %
(C) T foE (D) fere faesht
8. The battle of Saraighat was fought between Lachit Borphukan and
(A) Mir Jumla (B) Turbak
(C) Ram Singh (D) Bakhtiyar Khilji
SLRC-2022/P-V/C 9 P.T.O.
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9. TS FHTO! TS LYNIIE 06! BT 2 (PRI AL FCF 2

(A)  @eT<ea (B) A3 =
(C) O™ ©q (D) 2T ol6
9. TIRCSA ATTF FIATol MRET LA I 2 (AT SIRSTH AT FCE 2
(D) =eTCPa! (B) 3geIfs o3
(C) M T3 (D) e b
9. SEICHHTE! HRAH I AT, TER AU o6 SRS glet@! iiaAT fogf gt ?
(A) e fepert (B) Trsgufd wem
(C) @& Wed (D) sfveaie
9. WA % Tcieh TasdT fead T, G TP ! Sai § Gaiierd ohid @ ;
(A) T fepett (B) Ugufd waa
(C) @& WeH (D) sfeane

9. On every Independence Day of India, the Prime Minister addresses the
nation from :

(A) Red Fort (B) Rashtrapati Bhavan
(C) Parliament House (D) India Gate
10. R sitofq 2/2wTht @A AR =Nifeet
(A) I (B) it
(€ == (D)
10. SR oAl MRATST @I SCET-Fo! (ST ) 297 -
Q) IR B)
(C) = (D) =i
10. Sfem rifs frfafem veaman smem |
(A)  FTHRT (B) Wt
(C) ww=n (D) 3m=m
10. fe T 1 T8I TASH 9T -
(A) FriHeRT (B) mmferft
(C) wm= (D) Fmm
10. The First album by Zubeen Garg was
(A) Anamika (B) Mayabini
(C) Maya (D) Aasha
SLRC-2022/P-V/C 10
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11. 5= G=o& b w-fEs

(A) oo (B) g fort
(C) T=2 D) g
11. 39 R (TG GIFofe) SRS
(A) TIPS B) e
©) TR (D) TSI
11. eHITA FTTLEC 7
(A) hicThral (B) e feeeht
(C) g (D) W
11. <" 39a g fa &
(A) I B) = feeeht
(C) g (D) W
11. Lotus temple is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal

12. e 1yes fowqe SThaT G SITH5[G gl (HCH! ?

A) TR (B) APl
(C) TEFTTH (D) FR'E
12. SRS G OB SIS5e[5 oz ?
(A) e (B) forem
(C) TZCEHTEH (D) SFIEE
12. TEEN §& HHET H‘H‘gﬁ'&l (computer) T 78 T JATTY (output device) ?
(A) w® (B) et
(C) wIgshIBH (D) Hiarg
12. Feafoafid § & et o1 aseye feaga s @ g 7
A) ws® (B) Tt
(C) HIEhI®I (D) e
12. Which of the following is a output device for a computer ?
(A) Mouse (B) Speaker
(C) Microphone (D) Keyboard
SLRC-2022/P-V/C 11 P.T.O.
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13. TR (PIRCH AETRIF Tolfgs SItd SIS “[qiel et fReaval 541 27 ?

Q) A9 g s B) = T
(C) e el (D) F5Tais
18. ey Srarfire (o Aol wolfameld elibimes e Rafbe 2 2
Q) AR lieiie o (B) ey oot
(C) SR ol (D) ~*6 95 e
13. TERM o9 FSIHETE! SISHRAHR TSTHiE g g6 o ?
(A) YR YSITe FHET (B) foean greimmEi
(C) 3Taet BTSHTETH (D) GHEI HTe
13, Freaferfam i & % € v e g gl & e e e 2
(A) TR ™ (B) fieaia
(C) I IS (D) gt =
13. Which of the following mountain range is geologically considered the oldest ?
(A) Pir Panjal Range (B) Vindhya Range
(C) Aravalli Range (D) Western Ghats

14. 2024 B9 AT SRAPFL (Foe 52T TS 77 2

Q) iz (B) =%
(C) wBETH (D) =
14. 2024 FEE AHBEI ST (I =127 SRS FAC 2
A) i (B) ©TEA
(C) SITHRCN D) g
14. 2024 T LRI ATTIRE! Fe THIRATIT SR ?
A) Ut (B) e
(C) TR=eH (D) i@
14. 9 A1 I 2024 HeAHTA 3Teifieh St BTG T ?
(A) uRE (B) ied
(C) weeH (D) i@
14. Which city will host the 2024 Summer Olympics ?
(A) Paris (B) London
(C) Amsterdam (D) Zurich
SLRC-2022/P-V/C 12
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15. el @M ¢7F JEyial 524 2

(A) et (B) fefeeizag

(C) A (D) AT
15. i1 G (O el =12g ?

(&) e (B) frfersist

(C) I (D) «AZETS
15. T 96 BTeH TrAmaf T ?

(A) wefE (B) fhefidi=a

(C) SSHfEN (D) uTsels
15. Telm I TS I |

(A) FARE (B) fefrdia

(C) sEHfmEn (D) 9rseis
15. Manila is the capital city of

(A) Malaysia (B) Philippines

(C) Indonesia (D) Thailand

16. =t T TR =<9 AT Tewlq A9 202

(A) 36-1°F—37-2°F (B) 36-1°C—37-1°C
(C) 97°C—99°C (D) 48 °F—51°F

16. GG LI GRF N *AER SRS SIo@ «/fee 2 -
(A) 36.1°F—37-2°F (B) 36-1°C—37-1°C
(C) 97°C—-99°C (D) 48°F—51°F

16. HTE T G CETH SUETET GUTS3T 6™
(A) 36-1 °®T — 37-2 °HI (B) 36-1°0—37-1°%
(C) 97°H-99°H (D) 48 °®1 — 51 HI

16. Teh S¥Eh o1 IXI AT T qOAH 78 HHT § gran 8

(A) 36-1°F-372°F (B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F
16. An adult human being has a normal body temperature in the range of
(A) 36-1°F-372°F (B) 36:1°C-37-1°C
(C) 97°C—-99°C (D) 48 °F-51°F
SLRC-2022/P-V/C 13 P.T.O.

Page 13 of 64



Al | JobAssam conr

17. ffers @I spififes SiFhios AR@ae A IRl TR 2

(A) TEZ (B) 3ftwq
(C) “Iwgw (D) TSP
17. WGR @l wyififes Siphsfbre e g 2 ?
(A) = B) ofvFag
(C) ~%gH (D) ANSRE =Fq
17. TEREH S« YA 7t fo stmanf=y amn 2
A) TeE (B) =i
(C) ImETfran (D) fom gsetrg
17. Freferfiaa & & g s ot & EHRTAT e A B E 2
&) wEgHs (B) =i
(C) Ty (D) EHi =TgH
17. Which of the following geometric shapes does not have parallel sides ?
(A) Rhombus (B) Square
(C) Pentagon (D) Parallelogram

18. ST ACSIT (¥ YRS AT (PG TEee 7= ?

(A) AREFR (B) WHER
(C) WEER (D) & B
18. 1 TR (G Siferorcs ol eferaiere =7 ?
(A) JGRFR (B) TIRES
(C) TTHET D) & BT
18. TEREN S99 Jfets IHEAE FeREE™ (Olympics Swimming Event) &t ?
(A) W (B) ShEI
(C) =& (D) sihEIeh
18. fr=foifaa # & =1 @1 foehey STeifies queht Sfa=ifirar # smfte &t 8 2
(A) RS (B) SHEH
(C) s&EH (D) SIhEIh
18. Which of the following is not an Olympics Swimming Event ?
(A) Butterfly (B) Backstroke
(C) Breaststroke (D) Breakstroke
SLRC-2022/P-V/C 14
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19. TS @< 971 Siaed FRITSIE 7HFTe S[Es ?
A I (B) TmESt
(©) i (D) T
19. 0y Srafew S (PG Siees ! wisaicps w7l ?
Q) FER (B) TR
(©) i (D) T
19. TEREM 31 WRA GICTIR3TE o™ ST 7
&) el (B) Tierr
(C) e (D) W&
19. Tferfaa o @ = = 7<) wRa i ga greqoft 741 2 2
(A) e (B) e
(C) el (D) wEwC
19. Which one amongst the following is the southernmost river in India ?
(A) Cauvery (B) Godavari
(C) Narmada (D) Mahanadi
20. TFRCH! O¥S Sfew forea <7 &g w0 ?
(A) st (B) S
(C) sl-= (D) =
20. MRS (T SN IR My TN FCF ?
@) Pee (B) sl
C) < (D) =T
20. TSBIShT & STETTIST MEERM JER Y @ GRS 7
(A) Ter (B) feeirs
(C) =wiTf (D) Wi fa
20. WY YT WeF fhE AT H ST A B ?
A s (B) Uit
(C) @ (D) Bt
20. In which part do plants produce their food ?
(A) Roots (B) Leaf
(C) Trunk (D) Bark
SLRC-2022/P-V/C 15 P.T.O.
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21. 19 oa1RRE e o % wifes 2
(VR (B) wFEs
(C) letieir=g (D) THF™S
21. = ARG SITe 7
(&) ST (B) WFHS
(C) =T (D) V&
21. foemmEt e gan wHE 7
(A) wHESE (B) gFreas
(C) HIEMTER (D) Heoled
21, ofR Faems = e AT o
(A) S (B) geereas
(C) =MTES (D) Wewled
21. The real name of Bir Chilarai was
(A) Janmejoy (B) Sukladhwaj
(C) Kalapahar (D) Malladev
22. “Gg &l (I GCalBle @5 el T ?
(A) Rester (B) ©PTNE blR-EmEie
(C) TIrm (D) FF SCald
22. ‘B 7 FIog Qe B ?
A) frefem (B) SRR b2-Teorerifis
(C) oMt (D) T Toeifis
22, “TYYE AT BN HHE AR BRa ?
(&) fersmfsre (B) smamf et aTi
(C) femrem (D) %% &R
SLRC-2022/P-V/C 16
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22, “qEg YT ShEeh! Ush HEcUl @lER B 7
(A) fermfrn (B) 318 <h! =T ST
(C) fenman (D) bl SR
22. “Tusu Puja” is an important festival of the
(A) Bishnupriyas (B) Tea tribes of Assam
(C) Dimasas (D) Kuki tribe
23. RS @G Ews “Yai-TaRl” (Mask Making) 1 @Ko Ho6! 341 23 ?
A) FARTS (B) et
(C) TarETil (D) =i
23. 0 @RS M B O TSR (AT (WBRR) TSIt bibe =3 ?
A) vaETE (B) et
(C) ToIRIT#ITe! (D) v
23. TN S9 JTRAETE J@T THIEHTEE! TEisis 16l ?
(A) =UEeE (B) et
(C) TaTerar (D) @fezn
23. f=ferfiga # & fopg worm @ “g@iier AT &1 &9 @ fhan mar g ?
(A) =S (B) ATt
(C) TeTerdrET (D) wifean
23. In which of the following places, “Mask making” is predominantly practiced ?
(A) Charaidew (B) Majuli
(C) Goalpara (D) Sadiya
24. I3 [{oI9re =i Nrore SR g eflbs tafem, o *fewoe . Ifer @it e |
(A) @R % @313T (Axis and Allied)
(B) 931138 i @'Y (Allied and Axiom)
(C) @112 &< (5% (Allied and Gammon)
(D) oM % @RBR'Y (Gammon and Axiom)
SLRC-2022/P-V/C 17 P.T.O.
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24. WD Redre e @B Ioy fasR Ry 2aiee ol Sfeze :
(A) «@fPT 8 GFIET (Axis and Allied)
(B) ¢eEG 8 R (Allied and Axiom)
(C) 9T 8 (319 (Allied and Gammon)
(D) TN 8 BRI (Gammon and Axiom)
24. §gH q9E 11 3779 CragT AR T 36T el §T-ThT STa™
(A) ufegm R 3AATEE (Axis and Allied)
(B) 3TeT1sS A W13 (Allied and Axiom)
(C) 31eITsE W 194 (Allied and Gammon)
(D) T\ AT Va3 (Gammon and Axiom)
24, e fragg @ o afRm Eiguasimn ey, i wEr g |
(A) UfFaH Ug TeATsE (Axis and Allied)
(B) UaTss Us ufagsty (Allied and Axiom)
(C) ueTss U 1 (Allied and Gammon)
(D) Tm Ug ufeg3t (Gammon and Axiom)

24. World War II was fought by two opposite power blocs called
(A) Axis and Allied (B) Allied and Axiom
(C) Allied and Gammon (D) Gammon and Axiom

25. T3 BTG (ITORF IF GFSF (S5 -CFq Tl MRS C2fee -

@) oz (B) I 7129

(C) G (D) I
25. T A FIET (OATHGad I TIGI15 qH0 :

A) o (B) Tl

(C) wIoMif (D) e
25. & SRS S8 ST oTe-BIAR SIS JATeATel ?

a) fi@ (B) w®YUR

(C) wTrTfor (D) smaSTH
SLRC-2022/P-V/C 18
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25. T &1 T Uoh THE 01— &1 GHeA 158 S8 W g3 off :
A) fomgim (B) weHUR
(C) I (D) smEsH
25. A major Oil-field accident took place recently at
(A) Tingkhong (B) Sarupathar
(C) Merapani (D) Baghjan
26. SO (T IS IqIF AT TLelfeze] SqrEe ?
&) =T (B) =
(C) frsiary (D) TEreT
26. SRCS (I ey (AP I 7119 Teoifie 2R ?
Q) =PI (B) s
() feeEm (D) T
26. WRAH oo TENSATE S GHIAT AHEG] ?
(&) (B) worg
(C) fosmm (D) B
26. I <] WA % fohd T & foreherdll 2 2
(A) 3EH (B) g
(C) fosii (D) wEE
26. In which state of India does the Barak river originate ?
(A) Assam (B) Manipur
(C) Mizoram (D) Meghalaya
27. “FTR e PRl @ TRmEe Cs Sios ?
&) s (B) G =
(©) fea (D) 4
27. 0 SElS @I TRmIEE S “2IWk A A ?
(A) e (B) IR TRt
(©) fea (D) 4
SLRC-2022/P-V/C 19 P.T.O.

Page 19 of 64



Al | JobAssam conr

27. TEHM q9§ “gRel Ma” I |mier g ?

A) < (B) e %ot
(C) feam (D)
27. ‘@ M’ Frafefed 3 & fora agem @ wefa 2 2
A) < (B) e %ot
(C) faman (D) <hifel
27. Which of the following communities is “Haidang Geet” associated with ?
(A) Deuri (B) Sonowal Kachari
(C) Tiwa (D) Karbi

28. SPINF SN T a2 521 I s 2

(A) o (B) I ’BI

(C) =D (D) it
28. SPIR SIfERI MG R sy e 2

@) P (B) eI

(C) =I5 (D) e
28. STEM TR MHI Sef om@™ qerar ?

(A) W () (B) Tl

(C) (D) e
28. 3THH 1 YIS e e fou afrg 2

A) wH (B) il

© =k (D) e
28. Asharikandi village in Assam is famous for :

(A) Silk (B) Terracotta

(C) Jute (D) Marble
SLRC-2022/P-V/C 20
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29. I I SR HTE Tolfe [T IS N 2

A)  Teyifeepm SeeE (B) PRI @Ol

(C) fageerim arer (D) +RATO" TS
29. IR ¢SS AMMTH T S ?

(A Terife eptm SisRearl (B) =FEIMIY @eeEl

(C) e &Pt el (D) <3 5= I
29. ‘ufes’ 3 ARM BRI T=RH g ?

(A)  <fd v9Te 3mETer (B) AEHMTY ST&r83TT

(C) Torsy] &g Tl (D) fem =g sieat
29. ‘O Sk AF WMHTIM R

(A) I SEE ST (B) &Y SSerea

(C) fersuy e T (D) e =g wegrers
29. “Poki” is the name of ancestral home of

(A) dJyoti Prasad Agarwalla (B) Lakshminath Bezbaruah

(C) Bishnu Prasad Rabha (D) Nabin Chandra Bardoloi
30. T 12g (! Fpiiee s[iEs ?

A) FhRE (B) wferelt 21T

(€) =W (D) TeTCI e
30. G Seaf¥s @R MRt wartes 2

&) T (B) Iferat 2

(C) =99 (D) e Caltfaw s
30. TR q&371 fsarRaE g ?

(A) FIIER (B) et o=

(C) W= (D) gret e AT
30. Tr=fctfad # @ % Rearr b fem g 2

A) g e (B) wrferfios

(C) TmR (D) Temifere Hfet

SLRC-2022/P-V/C
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30. Which of the following is located at Sibsagar ?
(A) Surya Pahar (B) Malinithan
(C) Rang Ghar (D) Dolgobinda Mandir
31. TN 2 *I\&< Fere TN e FFo (2(%e ?
A) Iz = F=E= (B) FH™ A A2
(©) =iz o gfom (D) 3oz b
31. I iR IR T FHS 23RS 2
A) &oH @R s (B) 3 @R =2
(C) SN «3: fafG= (D) fafom @3 B
31. IS MU TR R TSRS SETHH ?
A) fafes s snffs (B) s 3 3TRH
(C) 3w AW ferfem (D) fafew 30 aEis
31. ierg shi ey o frreh offer geanen fpu 3 &
(A) Torfesr ST af (B) wff 37k 3™
(C) 3mEm 3R fafex (D) forfem s =
31. The Treaty of Yandaboo was signed between :
(A) British and Burmese (B) Burmese and Ahom
(C) Ahom and British (D) British and Chinese
32. FS G TSI *FYeT I IHRIS] I /e ?
A) fafe (B) =1
(C) Paear (D) pifemi
32, FS 6T SGC TG (P TR ?
(A) e (B) o1z
(C) STar (D) Sifemi
SLRC-2022/P-V/C 22
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32. HEHA HEYUT “IUHH Mp-aeH” G {1 fe’mH ?

(A) ot (B) chegm
(C) sraeny (D) hifereE

32. “3ATURM W ¥Mveh, Teh TR A1eh foheieh G ToTeT 71T &7 2
(&) (B) FeE
(C) IregE (D) <hiferer

32. ‘Abhigyan Shakuntalam”, a Sanskrit play was written by :
(A) Panini (B) Kalhan
(C) Asvaghosa (D) Kalidasa

33. JIRF wWRE @oTR Ko @iy ez

(A) 2o BfeT AP (B) 2T TfZe 7T e S 713
(C) fafersr e (D) T84 GFoHAl

33. IR (wRET TR Ko @iy 2e
(A) 95! BRI TB! CAITRTT A (B) WA &R SIS (12
(©) ffer simfs (D) “RYIHE GFTBTHa! Al

33. SENR SHfSS HATH = STRGATS ST
(A) ot w g ger wm (B) SATSS! BITET BTeATSH TR T
(C) Hasi G-did @i (D) ToRfEsTI AR SE wretf

33. arftfer Sfoet Tt 6l foRivar @
(A) T8 <eiE 52 Gei waT ? |
(B) ufeeTati i Ja i3 <hl Al TE 2 |
(C) =& T yomeft
(D) T3 T I AR
33. The special characteristic of the annual Jon Beel Mela is :
(A) It remains open round the clock
(B) Women are not permitted to enter

(C) Barter system

(D) The exclusive trading of livestock

SLRC-2022/P-V/C 23 P.T.O.
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34. faferiie =g (@It “-2a27 eigs e ?

(A) ST (B)

(C) vrRERE (D) SIS
34. G SARSTR TR0 (& “AI4-2-29111% 7 26 JEAREH ?

(A) SIS (B) IR

(C) M=l D) W=
34. CH-T-3ATE G TMERH TR FEST SFRESHEE ?

A) 3 (B) =R

(C) vresEl (D) IHH=
34. Trfeifiad 4 @ fopem “SH-U-3eTEl” o yoatrd <6t off ?

(A) IFNTNE (B) ST

(C) IEsTEl (D) 3HH
34. Who among the following initiated “Din-1-Ilahi” ?

(A) Aurangzeb (B) Babur

(C) Shah Jahan (D) Akbar
35. Taferie s1yzg (INT! P 1T wees w2y ?

A) gt (B) e

(C) TPMIRFEE (D) T
35. TIC Srarema W (PIeb (@RS Siges 7y ?

&) R (B) mr

(C) TR (D) T
35. TR SS3T1 JT3 81 3TEel 78T ?

A) g (B) ww=r@

(C) HIHHA (D) =vgime
35. T=fIRad o & SF Toh ohg WMRIA o™ 781 & ?

A) gzl (B) e

(C) hIETEHATA (D) =ErTe
SLRC-2022/P-V/C 24
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35. Which of the following is NOT a Union Territory ?
(A) Puducherry (B) Ladakh
(C) Kodaikanal (D) Chandigarh
36. SEIGRT g’ Jfere smrers b SRer bR @i i ?
(A) TIF (B) xro
(C) SiR® (D) =R
36. GRS BRI “fibe @bl SrreR ol
(A) B9 (B) yxrs
(C) SR (D) R
36. TEI-TEE YRATR <& SIEMHITH 3T 11, SRRE ISt 316 graiii’ S ffosmn 7
@A) = ® T
(C) =m9e ) IREEIRER
36. oy faferedt & S g 9 aTet I Wi fafercass o -
(A) = (B) g4
(C) drwg (D) T
36. The ancient Indian physician known as the ‘Father of Surgery’ was :
(A) Charaka (B) Sushruta
(C) Vagbhatta (D) Vinayaka
37. OROR MRS fRFI AL SPI5! SR ?
(A) 14 B) 10
(C) 15 (D) 12
37. SIROR MR FIG T 7=l Allex) IR 2
(A) 14 (B) 10
© 15 D) 12
SLRC-2022/P-V/C 25 P.T.O.
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37. WA gfafsrase ged wiit e ?

(A) 14 (B) 10
(C) 15 D) 12
37. R dfqe™ | fehat STggfea arg S & 2
A 14 B) 10
(C) 15 D) 12
37. How many schedules are in the Indian Constitution ?
(A) 14 (B) 10
(C) 15 D) 12

38. T e ifes e (20 PP 2

(A)  STerDeT &0 B) fao@t

(©) =3 D) e
38. FCN o ST I AT A1 e 2

(A) SREEBE T B) fast

(C) fe (D) P
38. <@Y () foamaT a9 T greransmd faam 7

(A)  ITEUTEA Je (B) fgu

(C) wfog (D) fafepn
38. WaH-Ie IT(hg fohdl U 1 TSARA & 7

(A)  ITETEA T (B) fgu

(C) wfog (D) fafern
38. The Fox-tail orchid is the state flower of

(A) Arunachal Pradesh (B) Tripura

(C) Manipur (D) Sikkim
39. SPT SIETP 7% (2 :

A) Ff (B) T

(C) [ (D) ™eT
39. PR e “/761 297

A i (B) =iRel

(C) (D) ™ezM
SLRC-2022/P-V/C 26
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89. 3THM SIEHISN SE3T AT ?

A) TEEmE (B) & el (o)
(OREIE (D) g faett (mf &)
39. 3THW HI TSI U 7 :
&) @ (B) @hiferct
(C) =7 (D) <&@
39. The state bird of Assam is
(A) Cuckoo (B) Hornbill
(C) Peacock (D) White winged wood duck

40. TV qWF THI ARTS SRAES

(A) foams (B) oHIbel

(©) F=ia (D) a1
40. T AFEED @ AR SRES :

Q) foamws (B) <A

(C) f=Hme (D) TGS
40. 3IUT= A3 99 A @UIE € 7

A) Fergre (B) weT=Ie

(C) foeme (D) HeT=e
40. g Hiex o verdi mfea 2

INBREEIES (B) W=

(C) faerrea (D) HeT=e

40. The Umananda temple is situated on the hilltop of

(A) Chitrachal (B) Bhasmachal
(C) Bindhyachal (D) Sandhyachal
SLRC-2022/P-V/C 27 P.T.O.
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41. I GF L 20% T 25% T 50% i 21 | ! 25
(A) 420 (B) 520
(C) 840 (D) 940
41. @I 90 A 20% 99 25% G 50% erT 21, 7
(A) 420 (B) 520
(C) 840 (D) 940
41. T8 EREI 20% T 25% 1 50% 31 e 21 | 9 SHERNERT JIEE
(A) 420 (B) 520
(C) 840 (D) 940
41. THEETH 20% h 25% H1 50% HIHH 21 2 | I8 &A1 3 -
(A) 420 (B) 520
(C) 840 (D) 940
41. 50% of 25% of 20% of a number is 21. The number is
(A) 420 (B) 520
(C) 840 (D) 940
42. 0.23 3 77gen ORI 2l
23 23
(A) 99 B) 990
23 23
© 999 D 99
42. 0.23 G TNGeT SR
23 23
(A) 99 (B) 990
23 23
(©) 999 D) 9o
SPACE FOR ROUGH WORK
SLRC-2022/P-V/C 28
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42. 0.23 T4 90F 30 BEEI SEEERIT e
23 23
(A) 99 B 990
23 23
© 999 D) 9o
42. 0.23 5" = % st g 2
23 23
(A) 99 B) 990
23 23
© 999 D) 9o
42. 0.23is equivalent to the fraction
23 23
(A) g9 B) 990
23 23
© 999 D) 9o
43. 95! TR T fagea (wawre! (2% 81 1.f4.2 | fagsiio] e raf Tare -
A) 14 G.[. (B) 16 &.J.
(C) 18 G.[. (D) 22 G.J.
43. G5 AN AL [Ggred THaEr 81 T2 | Tqgeite Sifogrss W7
A) 14PN (B) 16 7.1
(C) 18T.J. (D) 22 7M.
43. U MOER @AY SERgmE esmsen S 81 @.fn)2 | 9 smentrumi
ARIATGIN ATTATIAT AT
A) 149 (B) 164.fa.
(C) 18u.fu. (D) 224.f.
SPACE FOR ROUGH WORK
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43. T THIGETE THRI FAYS 1 ke 81 THiZ 2 | Py o w0l hl Teg 2
(A) 14 3 (B) 16 aH
(C) 18T (D) 22 et
43. The area of an isosceles right angled triangle is 81 cm2. The length of the
hypotenus of the triangle is
(A l4cm (B) 16 cm
(C) 18cm (D) 22cm
44, 75! I9(CFAT 6 SPATS 2:3 | PRSA (FAToTq SIS (2R :
(A 3:5 B 2:9
C) 4:9 (D) 4:5
44. 2% IR IR S 2:3 | IR 1207 AT Sl
A 3:5 B) 29
) 4:9 (D) 4:5
44. SRR ST G S TAREN TSN AER 2 ¢ 3 | § & g4 geemsfatt weumsn
ST
(A 3:5 B) 2:9
) 4:9 (D) 4:5
44, T=8 ) o o ToeRuTl b1 STTUTT 2:3 B | ST <h &Ahel fH STIA H &
A 3:5 B) 29
) 4:9 (D) 4:5
44. The diagonals of any two squares are in the ratio of 2:3. The areas of the
squares are in the ratio of
(A 3:5 B 2:9
C) 4:9 (D) 4:5
SPACE FOR ROUGH WORK
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45. TIICI <O 1N 6 T A2 15 s =53 IR #1107 | FI01 S8 797 10 fire Pres
IF 4 G AR PO @15 AR | Ghew) Sz FRfRfer 375 ietsr e @a! e
R
A 2 B) 3
©) 4 D) 5

45. 6 & TR G0 PG 15 MG FACS A | 10 T o7 S0€ 4 &) Ty @lomie 3 | e
FIEGT T FICS Fofe] NI ?

A 2 B) 3
€ 4 D) 5

45, WY G@EIHGE 91 6 TS 1 15 3d ®EEl | 96 10 T 376 AieEe @1 4 qEd
T | & ATAFE GHIHE! BISTEA] FHe™ T S ?

A 2 B) 3
€ 4 D) 5

45. 6 %9 T i i 15 Tl § 90 U Thd & | 10 T&i < 918, 4 37K 9%9 Jd & | I Sl i
T R o foTu STrarwr fei 1 e 7
A 2 B) 3
€ 4 D) 5

45. 6 men can complete a task in 15 days. After 10 days, 4 more men join. The
number of days required to complete the remaining work is :

A 2 B) 3
) 4 D) 5
46. zriﬁ\/f—ész\/? =, (T8 ‘X’ TA :
A 12 B) 14
(C) 196 (D) 144
SPACE FOR ROUGH WORK
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x 4162 » )
46. W\/ES_ % @,Wxtﬂﬁw.
A 12 (B) 14
(C) 196 (D) 144
46. Jfg f28: “262 SrfTeat, x T wm fega 2
A 12 (B) 14
(C) 196 (D) 144
46. L _ “162,?ﬁx?mm:ramaﬁm|
128 x
(A) 12 (B) 14
(C) 196 (D) 144
. . X  \162
46. Find the value of x if \/1_8 =
A 12 (B) 14
(C) 196 (D) 144
47. TAia—b=5F a2+ b2 =41, ToS ‘ab’ I I (R
A 10 (B) 5
< 7 D) 8
47. Ta—b=5«Ra2+b2=41%,SF ‘ab’ GI A
(A) 10 B) 5
< 7 D) 8
47. Jfca—b =53 a2+ b2 = 41, 31T ‘ab’ fam fega 7
(A) 10 B) 5
< 7 D) 8
SPACE FOR ROUGH WORK
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47, Ica—-b=53MaZ+b2=41,d ‘ab’ KA TAH 2 :
(4) 10 B) 5
©) 7 D) 8
47. Ifa—b =5 and a2+ b2 =41, then the value of ‘ab’ is
(4) 10 B) 5
© 7 D) 8
48. 5 Tl AR GBI SIS (tank) 80 MG 5o i< #I1f< | GTPB! Sl 8 T 2N
5]t P[RR [P TR @IIee] 27 2
(A) 80 TG (B) 70 ffi
(C) 60 3«5 (D) 50 ffH
48. 5 7 a1 b GRS G5F) Sf6 Faco 80 MG 7w =1iel | 8 6 1 = G712 thiamsih
(TI%) ©fS TS F© 3R A0S ?
(A) 80 TG (B) 70 i
(C) 60 35 (D) 50 ffH
48. ™ ¥H (Tank) @ ¥’ 5 T gerl 80 Tfa a0 ot | & 3 @t Jfc o’ 8 S g
oY 99 AT ?
(A) 80 fufa (B) 70 fufa
(C) 60 fufa (D) 50 fafa
48. T T I 5 UET 80 e & W wehd & | 3t Ik I 8 UTSUi | WA B fohaat wmy @ 2
(A) 80 firme (B) 70 fime
(C) 60 firme (D) 50 fiFe
48. A tank can be filled by 5 pipes in 80 minutes. How long would it take to fill
the same tank by 8 pipes ?
(A) 80 minutes (B) 70 minutes
(C) 60 minutes (D) 50 minutes
SPACE FOR ROUGH WORK
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49. 54° TIHF QRETTS 2/ FHCe 37K T

3
A 15 ® o
7 9
© 71q @) o
49. 54° TFIER Mot @RI A6 T4 -
3
@ 1o ® g
7 9
© 1o ™ g
49. 54° @G HeIA3TT ArAr=IET 7 T ?
3
» 1o ® g
7 9
© 1o ™ g
49. I 54° i AT I gh1s ° TNfdd il T IHHT T ST BT @ ¢
3
» 1o ® g
7 9
© 1o ™ g
49. The angle 54° when converted to radians, is
3
A 19 ® o
7 9
© 710 @) o

50. %amﬁwwwm:

A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
SPACE FOR ROUGH WORK
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2.5
50. E@Wﬁ@ﬁi"ﬁ@ﬁ_.\ow:
(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
50. 22 @ el e 1 A 7
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
2.5
50. %WWW%:
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
50. The decimal representation of % is
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
1
51. AT 22 — 2x+ 1 =07 CFq© x3—E§W:
A o (B) 1
) -1 D) 2
1
51. quZ—zxﬂ:omxi%—;mmﬁ:
@A o B) 1
) -1 D) 2
51. éwm:rens:m?:rﬂ—2x+1=0,x3—xi Ramsnsy ?
@A) o B) 1
(C) -1 D) 2
SPACE FOR ROUGH WORK
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51. iR 42 — 2x+ 1 =0T, x3—$wm=r%:
A 0o B) 1
© -1 D) 2
51. In the equation x2— 2x + 1 =0, the value of x3 — é is:
A 0o B) 1
€ -1 (D) 2
52. 1.3 Sreq @Bl 9 #1111 T6.14.3 SRre=a 5! 96 S5 Sferid »f11 A1 2
(A) 108 (B) 106
(©) 104 (D) 10?2
52. 1.3 SRS @36 T0wg (@A 1 P13 SRSTHE T ¥ 0wa (U6 (@ 41 0T 2
4 10° (B) 106
(C) 104 (D) 102
52. 1 (f1.)3 TSIWTE M1 918 SR A 1 (9.19.)3 TSI THT oeh g@ -t 81T 2
4 10° (B) 106
(C) 104 (D) 102
52. 1 T3 TR 9Tt U O | & 37T 1 T3 o fohae o1 1 <1 Tk © 2
4 10° (B) 106
(©) 104 (D) 10?2
52. How many cubes of volume 1 cm? each, can be cut out from a single cube of
volume 1 m3 ?
(A) 108 (B) 106
() 104 (D) 102
SPACE FOR ROUGH WORK
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53. 10 b AI9E GE OIS (AR G470 T 8 o THere =~ J(F SITHIR (T ST |
GYECIE MARTINE 9.6 F6 Tvore =~ Tt GelerEs [iq 7ag b2 S
alfar ?

A) 3.2%0 (B) 2.8%F0
(C) 3.9%D (D) 4.4%5

53. 10 TH (T 96 T2 GIb ST AR JCF WICR, 26 (SARIST 8 T Tovor =
T | (SIITETA Tep P fC coltet W2i5e M (reaeifBess 9.6 Fh T ~f e ?
A) 3.2%F0 (B) 2.8%Fb
(C) 3.9%% (D) 4.4F5

53. TH TAE 10 I AGATTTHT STEART & ST T 8 $ie FeME3Td FHRAT € | I o
e EUE 3 T 9.6 1 e ST ¥ FEenE T B A8 e
CEICEIIC Y
(A) 3.27%rE (B) 2.8%

(€) 39wk (D) 4.4

53. T 10 hie el €G! Th AR o fo%g Fehd! 55 8 HIT 3hi HaTs T AR i et & | Tl
AT 61 3R et g T © STHT =TfET dTfh $HeRT SN 9.6 hiT 1 HaTs R AR &l g
T ?

(A) 3.2 (B) 2.8%¢
(C) 3.9%k D) 4.4%

53. A 10 ft. long ladder leaning against a wall, touches the wall at a height of
8 ft. By what distance should the ladder be moved towards the wall so that
its top touches the wall at 9.6 ft height ?

(A 3.2ft (B) 2.8ft
(C) 3.9ft (D) 4.4 ft
SPACE FOR ROUGH WORK
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54.

54.

54.

54.

54.

3:4:5 oo 2! TS AL 5[qeiFaT 480 TR o' | 74y FfGIa SBiZei Tieah!
ey

A) 6 (B) 8

(C) 10 D) 12

3:4:5 SITSA fowTfb FRYIT BoRFeT 480 | 2 foaf 7=y J2ew A4 -

A) 6 (B) 8

(C) 10 D) 12

Y™ 3ERE SRS IEE 3:4:5 AW fodRf g@sT JeE 480 | 9 WHYU™
It AT Sefgs <tfem s e

A) 6 B) 8

(C) 10 (D) 12

3:4:5 % U § &I i T3 1 TOHHA 480 TR ST & | AT G131 H 8 ga9 9t
T&AE

A) 6 B) 8

(©) 10 D) 12

The product of three numbers which are in the ratio 3:4:5 is found to be 480.
The largest number among the three numbers is

A 6 (B) 8
(C) 10 D) 12

55.

55.

THICT G TR &I 30% I 1 B3, ©F [71=® OB 30% BT 91 27 | ARG 0
{%QWW@‘T 3 ;

(A) 9% I (B) 10% T

(C) 10% @ D) 9% ZM

GIHH MRAIE 30% IS T 291 TR SRR 30% B 41 291 | MoRF 2RI Wifoa
1~

(A) 9% I (B) 10% g™
(C) 10% 3 D) 9% BM™
SPACE FOR ROUGH WORK
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55. THH IFARNETE! 30% i Sige™ AW fofHw™ 30% w1eTe @reme™ | o IHfaE
ARG ST@ersl BIER ?
(A) 9% SE™ (B) 10% STSTE &=
(C) 10% S (D) 9% wTSTs A&
55. T GG H 30% ! I T3 TR 38k a1¢ 30% hi hH1 g3 | e H, T # g IHaaH & -
(A) 9% Hdfg (B) 10% 3hl HHT
(C) 10% 1 dfg (D) 9% I HHt
55. A number was increased by 30% and thereafter decreased by 30%. The net
change in the number in percentage is
(A) 9% increase (B) 10% decrease
(C) 10% increase (D) 9% decrease
56. M A:B=2:3 %< B:C = 4:5, 7% C:A I 51 :
(A) 85 B) 5:8
(C) 5:18 (D) 15:8
56. IWA:B=2:39RB:C=4:509@ C:A T :
(A) 8:5 (B) 5:8
(C) 5:18 (D) 15:8
56. JACA:B=2:33MB:C=4:5,3mw C: A 3 A
(A) 8:5 B) 5:8
(C) 5:18 (D) 15:8
56. I A:B=2:33 R B:C=4:5AC:AR:
(A) 85 B) 5:8
(C) 5:18 (D) 15:8
56. If A:B=2:3 and B:C =4:5, then C:A 1s:
A) 85 (B) 5:8
(C) 5:18 (D) 15:8
SPACE FOR ROUGH WORK
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517.

57.

517.

57.

57.

G IR SRl 2l I=E 10% 21T I = | TR I SR 1000 2 E 3
2] 2e T SR 2T :

(A) 1300 (B) 1351

(C) 1310 (D) 1331

GG *12CEH SRRl 2o T=F 10% 2ICH A 27 | TEA SPiR< 1000 26 3 I |
*2AH7 SR 2

(A) 1300 (B) 1351

(C) 1310 (D) 1331

e AR gy SHGHRET SEOhEsl 10% gRTE SRidel | §e SEeE gy
IFNHRT 1000, 3761 SER 3 319 & TR g STHRTHET 96 [ 7

(A) 1300 (B) 1351

() 1310 (D) 1331

T gL ! TEE H fd a9 10% 1 ¢ & ghg et 2 | e IdHH S 1000 2 a1 3 99
T 38T hl SHEET Bt

(A) 1300 (B) 1351

(C) 1310 (D) 1331

If the population of a town increases at the rate of 10% every year, the
present population is 1000, then after 3 years the population of the town
would be

(A) 1300 (B) 1351
(C) 1310 (D) 1331

58.

I 95! FOIRE MG 3 : 5 SIS (R, SF ALCFLOR “Fee (=02 135 |
FRYJRT ARCD! T2R :

A) 5 B) 9
© 11 D) 15
SPACE FOR ROUGH WORK
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58.

58.

58.

58.

735 A TR S 3 ¢ 5 G S @91 135 | ued 72l == -

A) 5 B) 9

©) 11 (D) 15

A=A faferm sHfomfa STt STe™ 3 @ 5 N SERMH TSRS JER 135 | S8R
HIGTE G3fe SAHIHRT AT ?

4 5 B) 9

©) 11 (D) 15

Gl Th{ceh HEATE 3:5 3TIITA | & 3R 37! TPHGS 135 7 | 370 8 B T 7 -

4 5 B) 9

©) 11 (D) 15

Two natural numbers are in the ratio 3:5 and their product i1s 135. The
smaller number is

@A) 5 B) 9
€) 11 (D) 15
59. M A, B IIF C T 91C I3 22 I=1 IIF B IF C J 9T I 25 29 =T, (S(Q 9 IZJ9
free A I :
(A) 359=9 (B) 303=3
(C) 2539=9 (D) 20 =T
59. A, B @33 C &9 oI 7 22 I9F G B 8 C &3 TG T 25 <79 230 A T 97 9
I T -
(A) 353¢F (B) 303K
(C) 253¢W (D) 20 IW
59. Jf¢ A, B 3 C [ 991 7€ g3 22 9\R 31 B 31 C 7 9| 7€ st 25 9N,
FeeTl 9 SIHRH 39 A T S€3 11 98 S ?
(A) 35 9ER (B) 30 «ER
(C) 259ER (D) 20 SER
SPACE FOR ROUGH WORK
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59.

59.

Ffg A, B 31K C & 37t5a 3177 22 99 8 31K B 37X C &l 37d 31y 25 98 3, @1 9 ¥ &g A
ﬁawg%:

(A) 35ad (B) 30 %

(C) 25a% D) 20 a9

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then the age of A after 9 yearsis:

(A) 35 years (B) 30 years

(C) 25 years (D) 20 years

60.

60.

60.

TAE (@I 9P AN RERT 20% FI© @ (9 HIF BT =AM 20% S 7S
fafer e | Ay i S 2l @il shes ol R :

(A) 40% (B) 50%

(©) 30% (D) 45%

e GG AN IR Al ToT (TP 20% B @ el G2 6l o0 (/TP 20% ¥
vie a1 e | AWM [ 19 &y >l 5 20 21 7 2

(A) 40% (B) 50%

(©) 30% (D) 45%

HAAN HHY SHICE! TAER SEAMHHER 20% T SRAT A€ | o sareEt fo foaem
FEAMHTE 20% ST S8HTd BETRAT | SHIGE! BHATRTE SH @6l GATh Sl ?

(A) 40% (B) 50%

(©) 30% (D) 45%

60. HIA Th I& ol 35 igd e & 20% HH W EedT & 3T 30 Gfd Iod & 20% AT W
ST 8 | 9] ! S T AT T Jed | -
(A) 40% B) 50%
(C) 30% D) 45%

60. Kamal buys an article for 20% less than its printed price and sells it for 20%
more than the printed price. The percentage of gain on selling the article is
(A) 40% B) 50%
(C) 30% D) 45%

SPACE FOR ROUGH WORK
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Q. 61 — Q. 64. Choose the correct preposition.

61. He said this oath.
(A) by (B) on
(C) with (D) from
62. The post the Government of Assam in the Department of Education

has been advertised.

(A) in (B) with
(C) under (D) for
63. The train starts 5 O’clock the morning Wednesdays.
(A) 1in, at, in (B) at, in, on
(C) 1n, on, at (D) on, at, in

64. The plaster on the walls has been removed to expose the original bricks .
(A) underneath (B) below
(C) under (D) inside

Q. 65 — Q. 67. The given sentence is incorrect. Choose the correct sentence from
the given options.

65. ‘The Statesman’ has the largest circulation of any English daily.
(A) ‘The Statesman’ has the largest circulation of any English dailies.
(B) ‘The Statesman’ have the largest circulation of all English dailies.
(C) ‘The Statesman’ has largest circulations of all English dailies.

(D) ‘The Statesman’ has largest circulation of all English dailies.

66. I contradicted against him.

(A) I contradicted by him. (B) I contradicted for him.
(C) I contradicted with him. (D) I contradicted him.
SLRC-2022/P-V/C 43 P.T.O.
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67. This is one of the best book that has been written since ten years.
(A) This is one of the best book written in ten years.
(B) This is one of the best books that have been written in ten years.
(C) This is one of the best books written since ten years.

(D) This is one of the best books that has been written since ten years.

Q. 68 — Q. 70. Fill in the blanks with the correct options.

68. Please to let the children pass.
(A) stand aside (B) stand to the side
(C) stand in the side (D) stand on the side

69. 1maginative stories about the origin of the game of chess.
(A) Many of the (B) Many
(C) There are many (D) Of the many

70. I really have to go now. I have the doctor.
(A) an appointment to (B) an appointment with
(C) appointment with (D) an appointment from

Q. 71 — Q. 74. Choose the correct ANTONYM for the given word.
71. Sympathy

(A) Empathy (B) Antipathy

(C) Condolence (D) Consolation

72. Economise

(A) Enormous (B) Purchase
(C) Waste (D) Trade
73. Hamper
(A) Promote (B) Stop
(C) Barrier (D) Fail
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74.

Incompetent
(A) Unskilled (B) Inefficient
(C) Dexterous (D) Useless

Q. 75— Q. 77. Choose the correct SYNONYM for the given word.

75. dJudicious

(A) Prudent (B) Irrational

(C) Foolish (D) Impatient
76. Monotonous

(A) Pleasant (B) Varied

(C) Variety (D) Tedious
77. Outrage

(A) Praise (B) Favour

(C) Pleased (D) Offence

Q. 78 — Q. 80. Choose the correct option.

78. A number of people listening to a concert or a lecture is called
(A) Audience (B) Spectators
(C) Crowd (D) Rabble
79. The place where airplanes are housed is called a
(A) Garage (B) Warehouse
(C) Hanger (D) Hangar
80. A person who walks in his sleep is known as
(A) Misanthropist (B) Somniloquist
(C) Somnambulist (D) Ventriloquist
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81. AR *MF IS IR SR SAIGPRIZ TR T, “(STHeq GG SI9ee (@
+q9 ol e | AR AR S S @R e |
Q) I B) i
©) fre D)
81. M “NOCE TP ol T Tn Ferel, O GG iR Te SN 7[tad el forel 7
SRAM /10 20T SHEA -
Q) fremz (B) wifos
(©) frel (D) I
81. fefa ferata Tee wrmmffer onfé o Segen g1, “faf wam amersn snf fearseni
forerf farer | SeoeT Te™ SIS 7 A ?
(A) ISt (B) femrme
(C) fohr D) fowd
81. &t TR W RIS 3l 3T IR HLd §U I¢T Hed &, ‘I Sohelldl WTg W 9 o fUar
e P =eietses_ ® )|
@) q« (B) WS
(C) foerm (D) ==t
81. Pointing to the newsreader on TV screen, Uday says, “ His only brother is the
father of my son’s father.” The newsreader is Uday’s
(A) Grandfather (B) Nephew
(C) Father (D) Uncle
82. feTfeTfIe (FINUG! *9 SN *<7 CIeS e ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
SPACE FOR ROUGH WORK
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82. TN STAIS = feTa N0y (I *AT5 SN (T fom 2
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
82. TIERIN &/« WA FIeIT TEThRST JATCATET ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
82. Frafeiftaa 3 & = & wreg gl & ST R ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
82. Which of the following words is different from others ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
83. M 3249685 MG SHRENE THEFTS SR 27 (SCY [FAA FRAT SR Bl
o[RS (2 2R 2
A 72 (B) o<
() fof D) 9F
83. 3249685 MANBTIT AW SHEPIE ASI] B, & G FOI6 AR Zl GP2Pw
2RI ?
@) 72 B) Ef
(C) feas (D) @30
83. dfg 3249685 AR fo@m STHEIRET Amiea AHed fsaman maf uef smea
YT YT 2
A) F (B) @i
(C) w=Y™ (D) =g
SPACE FOR ROUGH WORK
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83.

Ife BT 3249685 o ehi bl HAE! hH T saferd fera e, a1 fera 37epi <t ferfa o
it ?

A (B) =R

©) = D)

83. If the digits of the number 3249685 are arranged in ascending order, the
position of how many digits would remain the same ?
(A) Two (B) Four
(C) Three (D) One
84. “3:A:90::3:B:1095” © &3 I[& 91 @I Z/7 T A ST B 7 o/%e & 5 37 2
(A) TR, = B) Wz, Tl
(C) <=3, fmr (D) e, =B
84. TN M &lfodl T A 4R B @7 “RA0E 1 =7 2
“3:A:90::3:B:1095”
(A)  IM, IR (B) ¥, 9l
(C) 3ITW, W (D) e, 951
84. “3:A:90::3:B:1095” W A& WSt Sl A R B @ Merf seisil Hietr = g
(A) <M, STER (B) &M, ==
(C) «HER, ¥ (D) |M, g=
84. “3:A:90::3:B:1095” H TohERTq HeY TATIUT i o feTT A 3R B 1 a1 Wfereenfia s ?
(A) HEMT, T (B) =&, B
(C) e, fem (D) feq, =
84. What would replace A and B in order to establish a logical connection in
“3:A:90::3:B:1095” ?
(A) Month, Year (B) Month, Hour
(C) Year, Days (D) Days, Hours
SPACE FOR ROUGH WORK
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85. TYRfei® (I 1R SMEIRE OIS Sfafe ?
A) 729 (B) 512
(C©) 232 D) 125
85. fIcw Swafs @ 120l SFytia e fom ?
A) 729 (B) 512
(C) 232 D) 125
85. TG ST TEABIS TR ?
A) 729 (B) 512
(C) 232 D) 125
85. frmforRad o & whiv «f dwea 3=y g S A& R 2
A) 729 (B) 512
(C) 232 D) 125
85. Which of the following numbers is unlike the others ?
A) 729 (B) 512
(C) 232 D) 125
86. 22 TCrHY Wbl foqe @ysaR @ e @7 rere 16 Sferieet | i Sferea
S5 AABIETOIE BB I [AS it s19/taie e | (721 2o 2 €3 T
PGl 527 ?
(A) “IxTH (B) sfeq
(C) SIFTSTFq (D) GFIEAN
SPACE FOR ROUGH WORK
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86. TNzl b@ A GFb STSTHFAE RYTS @2l IR FIG | FI0! THRLE TSARTSIE
S TR (&l O | (Rl 1 Sphs(b (o 2

Q) cwgs (B) of
(C) AR (D) e

86. TR UMY AR Tl T graish aramiiaTe fefRmmer arfed grfemn | g1f S smemm
HEE T STETGRE Tt ST e 3T S=d HY =1 A€ | S8 € 07 gramg

"Il 7
(A)  IrETfRmEn (B) =
(C) form gscirg (D) gfufsrem

86. TIEI A T 31d I I8 T fergman e 2, feidier T 7 fewm & whre feam | e gU g
FHMIR §9 8 gE{ T TAMFIANT hleh Ta1 [9Ushral T | T&1 ol 3{e @1 eI firei 2

(A) TS B) =i
(C) THI Tqdst (D) YT
SPACE FOR ROUGH WORK
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86. Sneha cut off a rectangle along the dotted line as shown. The cut piece was
parallelly shifted to the other side and fixed it there. What shape will Sneha
get now ?

(A) Pentagon (B) Square
(C) Parallelogram (D) Trapezium

87. fmfere Ieh! fba2
&) B
©) D)

87. TIGa e Hafb Sy, wpr, @i 2 % afsffg 3 ?

A) (B)
© D)
87. BN ¢ AN HENAT T, ‘WBH, THAM @t BIHERT ?
&) (B)
© (D)
SPACE FOR ROUGH WORK
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87. T=afafga ¥ 9 <H @1 3@
WY, The, ST ohT Tfffcd s Tehat1 § 7

(A) B)

©) D)

87. Which of the following diagrams can represent ?
‘Language’, ‘French’, ‘German’.

A) B)

©) D)

88. oW GBI T (PRI %07 (7S (= :

A 3 RS #1f5e 4=t 36061 T2z
A F (B) D
© C D) E

88. @b Y2 TICFE YFIHFSIT LT

A 3 R3S 04 @ 39D i -
(A F B) D
©) C D) E
SPACE FOR ROUGH WORK
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88. TRH T IHI TS TATTHRG! TERTE BT AT fef2rem |

A T el o fergama m g § ¢

A) F B) D

€ C D) E
88. Fmduwsdiem s Hgwafeamm g |

A & foadia die o fean mam s1en B
A F (B) D
© C D) E

88. In the figure, multiple views of the same cube 1s shown

The letter on the face opposite to A is

A F (B) D
© C D) E
SPACE FOR ROUGH WORK
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89. TG IPTRT AW S F© ST e T2l =7, (S0 IS =171 79 36! (20 -
(VY B) U
(C) T D) F
89. IM HEE! IMAEE [HC T (AT NSNS (FANCHCHHRT) @14 =, O A W
CACT T 9 PG 2
(VY B) U
<G T D) F
89. Sfe S grENE! BE3NE IoUT B foregisen, sfafifsm di gFm g fy gr@is
HAME ?
(VY B) U
© T D) F
89. Jfe TS W =l e At 61 T Tt ST &, o a1 § BT JAELHH AT R ?
(VY B) U
<G T D) F
89. If the English alphabets are written horizontally in the reverse order, then
what is the 6tk letter from left ?
(A V B) U
(C) T D) F
90. STEF! TFIR TMErS JGS RIS 64 T F2Te! et Biv | Tom Bl e¥
58 o el BIR | 9@ AT B[ | bRt 84 e 7P (202
) e (B) drerefe
(C) =T (D) e
SPACE FOR ROUGH WORK
SLRC-2022/P-V/C 54

Page 54 of 64



Al | JobAssam conr

90. STEFHIR TR A Frem (AT o1, @ I TF AG! | Troml @) (A o1 5%
f2Te™! (AT AT | ] A (T 4! | (& T o7 2
Q) fare (B) &

(C) <o D) I

90. THENMEAM (colleagues) BRI e TYdsn feawfrgs Sifew e e garfrgs
TEEfE | Taremn ity Sitw, e fRwtg TEeiE | g e TSt
TERRH | 91 safrgs Sifee ?

(A feaw (B) Tgd
(C) amm (D) g™

00, et i T fivr & e 2, S T B e 3 | e faEnsh & o 2, i v & B
2N QTG A BITR | G AT B ?

(A Tedw (B) T
(C) Tamm (D) &

90. Amongst the colleagues, Rajput is taller than Hitesh, who is shorter than
Suresh. Natasha i1s taller than Himashri, but shorter than Hitesh. Suresh 1s
shorter than Rajput. Who is the tallest ?

(A) Hitesh (B) Rajput
(C) Natasha (D) Suresh

91. @bl WIYEE (I Bl TP @™ B Yo faged e T Sereql 27 |
I Sfersal fagea 15 =4 e 2’3
A 5 B) 6
© 7 D) 8
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91. I WISCER @ @ G5 AR [iE T ©F 14y M@ @& FHToeF fqos Fhs
&9 41 291 | G R fqger (s (@9 41 A 2
@A) 5 B) 6
©) 7 D) 8
91. #WME IrETafEt faft fuRaffaet smafRum gumsme @' deE | 9 SRt
e TTETIAT FI& 11 T 2
@A) 5 B) 6
© 7 D) 8
91. Teh CHYS i 3T Th I & BT o &9 | Hred TN | 39 TWE hied W FHepard! By i
&A1 B -
@ 5 B) 6
© 7 D) 8
91. Cut out a Decagon through one of its vertices, in the form of triangles. Total
number of triangle cut-outs will be
@A) 5 B) 6
© 7 D) 8
92. TS @G TR IR (18, 75), (39, 54), (27, 66) T 7% T I2+1 I ?
(A) (51, 42) B) (32, 62)
(C) (51, 65) (D) (61, 55)
92. 0w S@l® @ R4y (STl GFTSIE TifFe ?
(18, 75), (39, 54), (27, 66)
A) (51, 42) B) (32, 62)
(C) (b1, 65) (D) (61, 55)
92. &S JFITHT TR MERTE S SIS FH=g] M1 ?
(18, 75), (39, 54), (27, 66), ?
(A) (51, 42) B) (32, 62)
(C) (51, 65) (D) (61, 55)
SPACE FOR ROUGH WORK
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92. frfcTiaa o @ fop T < W 1 Ha g (18, 75), (39, 54), (27, 66) H THH & ?
(A) (b1, 42) (B) (32, 62)
(C) (b1, 65) (D) (61, 55)
92. Which of the following pair of numbers has the same relationship as (18, 75),
(39, 54), (27, 66) ?
(A) (b1, 42) (B) (32, 62)
(C) (b1, 65) (D) (61, 55)

93. 5,7, 11,17, 23, 35, 47, ... TS T FAH! oo 1 ;
(A) 23 (B) 17
€) 11 (D) 35

93. FHMHrS TWFSIR Tz e w4 fifes 34 :
5,7,11, 17, 23, 85, 47

(A) 23 B) 17
) 11 (D) 35
93. 5,7, 11,17, 23, 35, 47 HIRTE TR &l M fererergt AHR ?
(A) 23 B) 17
) 11 (D) 35
93. [@ 5, 7, 11, 17, 23, 35, 47 T TTAd @1 71 UE T8=THT |
(A) 23 B) 17
<€) 11 (D) 35
93. Identify the term that is incorrectly placed in the series 5, 7, 11, 17, 23, 35,
47.
A 23 B) 17
<€) 11 (D) 35

94. BFEC, KONL, PT # Q *:<eIGR # T 52T (FIG! 281G 3¢f 321 w1 2

@A s B) U
© R @) D
SPACE FOR ROUGH WORK
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94. (@ 34D # 97 B efozi+e 2@ 2
BFEC, KONL, PT# Q
(A) S B) U
(C) R D) D
94. € FRENI BIRSE YHE # @ A==l g ? BFEC, KONL, PT # Q ?
(A) S B) U
(C) R (D) D
94. I9 41 318 BFEC, KONL, PT # Q § # <1 S7Tg &7 ?
(A) S B) U
(C) R (D) D
94. Which letter should replace # in BFEC, KONL, PT#Q ?
4 S B) U
©) R (D) D
95. 13 [l 100 (31 A FRYIR 1% Seriers 2 SRABIF [P B aifar 2
(A) 12 (B) 15
(C) 10 (D) 13
95. 1 (TP 100 7S I 3 @R AR 2’ o o100 2(q ?
(A) 12 B) 15
(C) 10 (D) 13
95. 1w 100 fm foam s smfiHThRE T e® 2 @ fammm= 2
(A) 12 B) 15
(C) 10 (D) 13
95. 1¥ 100 T ! G9 &A1 ! forad THF 2 i fehaT s fora st 2
@) 12 B) 15
(C) 10 (D) 13
SPACE FOR ROUGH WORK
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95.

While writing the even numbers from 1 to 100, how many time ‘2’ will be

written ?
@) 12 B) 15
(©) 10 D) 13

96.

96.

96.

96.

W “FYIFT” *AGI AR * ] GO TS, (S0 A TR *75! faferie
(PIICO! #1990 T2l Fe 273 2

Q) f&s (B) =5

(C) TH D) 7t

W “FEIFEL” WAG AN 47 A A0S O@ TR IFTeI@ WaEE @G 0
TIfFS 2

A fF=h B s
(C) ToIe (D) =l
Jfe “sreset” 31 “G@” SN WGl §, AT MR el “Vh” 31 e Aaieel gt ?
&) forehe (B) &
(C) Fpeu= (D) ==

“FeFel” Ve ‘98’ e W S T wefa 7, S sH e Ol f=foifea e s @
e g ?

(&) fopene (B) @iehl

(C) Pesid (D) RS

96. If “Conductor” is related to “Bus”, then “Referee” is related in a similar way
to which of the following ?
(A) Cricket (B) Hockey
(C) Football (D) Chess
97. SWESI(F FEATIS AT ool 1 :
(A) TS5 : e (B) WSS : sifirs
(C) DI : Ty (D) TS : MRS
SPACE FOR ROUGH WORK
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97. TG (erelf s 39 -
(A) 1S5 : e (B) =SS : 9l
(C) Bl : Bl (D) e : MR
97. TMRIRATH USHE S TR ?
Q) =g - fofirm (B) 3TRIYE : EETY
(C) =Tvre : T (D) TN : <@l
97. Teld lj[ﬁ'r?i?l IH =1 UgA T
A) A fosm (B) 3Riwg : Tivrg
(C) IO : Shfera (D) IS ; wifi
97. Identify the incorrectly matched pair :
(A) Newton : Science (B) Aryabhatta : Mathematics
(C) Chanakya : Poetry (D) Mozart : Music
98. Tt i @it (g e 3l WGB! foaire 354l -
(A) e (Diplomacy) (B) afre (Mathematics)
(C) @& (Apology) (D) TFeIcERd (Callisthenics)
98. T *FAlH T Mg (Facs @RI of fofeee 34
(A) T2l (Diplomacy) (B) sif® *I@ (Mathematics)
(C) @=If% (Apology) (D) FIfCER™ (Callisthenics)
98. TS BTSN BIURE! HRARIT Hiels@! i ?
(A) fewmfa (Diplomacy) (B) Tumfyed (Mathematics)
(C) WA (Apology) (D) whferedf¥ed (Callisthenics)
98. 3Y I1ec <h! UEAM i Sl I= HIIH o & bl Heid HLaT & :
(A) fewit (Diplomacy) (B) udmufes (Mathematics)
(C) udIeArSTt (Apology) (D) FferAfted (Callisthenics)
SPACE FOR ROUGH WORK
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98.

Identify the term which refers to an area of higher studies :

(A) Diplomacy (B) Mathematics
(C) Apology (D) Callisthenics

99.

99.

99.

99.

@ 9 &FTs BEC I 94 ‘books are old’, EDF 3 91¢ ‘man is old’ =l CGH @&
‘buy good books’ WQT‘{WI | 3% ‘books’ I (FIT (2R :

A B B) C

©) E D) D

«fb WFS BEC WRIT ‘books are old’, EDF @RI ‘man is old’ €3k CGH @RI
‘buy good books’ | ‘books’ *FHA &olj IRIZS ALFS :

A B (B) C

©) E D) D

oY Hig 3@ (code) BEC T 3tifusn Smam “festemet mem” EDF 1 3nifysn smem
“qetgar sRE” AW CGH [ 3nifysn sew “mem faaeerat s@” | “fasmeawi”
AT IS JE=

(A) B B) C

C) E (D) D

fertft ws s @ BEC &1 319 8, ‘books are old’, EDF &7 319 2, ‘man is old’ 3tk CGH
%1 7Y B, ‘buy good books’. ‘books’ & fU HIE R :

A B B) C

©) E (D) D

99. In a code, BEC means ‘books are old’, EDF means ‘man is old’ and CGH
means ‘buy good books’. The code for ‘books’ is
(A) B B) C
(C) E (D) D
100. faferrs @R [oR w1 :
A=2C
A+3C=2C+G
TC=2A+G
fafeTfi® et 2G I 23 2
(A) 2A (B) 3A
(C) 2A+3C (D) 3A+2C
SPACE FOR ROUGH WORK
SLRC-2022/P-V/C 61 P.T.O.

Page 61 of 64



Al | JobAssam conr

100.

100.

100.

100.

feraferiie soestet st 39
A=2C
A+3C=2C+G
TC=2A+G
0 Sratrema T @A 2G @3 A 2
(A) 2A
(C) 2A+3C
TERTE BT FHIGBRE! BIFHT ATG!
A=2C
A+3C=2C+G
TC=2A+G
MR 56 HHA3T 2G 51 99
(A) 2A
(C) 2A+3C
Frafafad gaui w fmm i
A=2C
A+3C=2C+G
TC=2A+G
Frafafaa @ 9 9 2G FaUR R ?
(A) 2A
(C) 2A +3C
Consider the following relations :
A=2C
A+3C=2C+G
TC=2A+G

(B)
D)

(B)
D)

(B)
D)

Which among the following is equal to 2G ?

(A) 2A
(C) 2A+3C

(B)
D)

3A
3A + 2C

3A
3A +2C

3A
3A + 2C

3A
3A + 2C
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